T

=
o

=
N

=
o

[(msoft drop/pungroomed)z]

10

(1/o,.,,y do/d log
O =
oo [HEN N

o
o

o
~

0.2

Ratio to ATLAS

0.5

13000

GeV pp
[T T

Relative jet massp (ATLAS soft-drop observables)

- m ATLAS .
— --1-- Herwig 7.2.1 default —
IS ¢ Sherpa 2.2.9 default ]
- R 5
— e 3 % —
N L -
: ) ; ! P P \‘\\ :
B a
__ .-;'J"‘! __
I ]
T S T U S Y AP S I
— & . I
— | ZEET R S I & < fetels m:::::: ]
E— =P e é___'_"_"m__ === ”@ E él
1 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 "
4 -3 - f drop,_uri
SO rop, ungroomeaq 2
log, [(m™™ “*F/p!" Y]

Rivet 3.1.10, = 2.9M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


